1.

% m Y7

)

o]

3

N

9

H|

F A o]

5

oo




AR 1A 6

2.

54 km

N

X § = 54(km)

0

™ <t




— <

— <t

— <

._.___..u
<0




o] & 2ol HAY7F?

L ons
= A%

o)

£ Tglkel 3t me g

[\ RYo]

el

— ™

o

— <t

[\ Y]

2
“ 15

et

1
3

of glom g Tk 149




Utk e e 7 e e B km Gy

ol




6.

ol A staztA o] Aal= gkm Ay}, of 7=

e g sy 284 s ARl 2 ki QU7

o A3, o

1 1
@ §1km @ ?6km ® gkm

~&B

A7) AL 1 ole} sk, A AlA
AL Aeg wol 2 Az}
A7 2] Prkel] gt

1 2

3 3

2 16

urebd, dAlz 29 72l vat 25U
8
9




%
o
ol

bl [ el e 429

&g Aus

=

2

5

2 ><32—
- =

5

1

14

whebA] 747 = 14 YUYt}




15_g

o] 97&2] FA))

5x3=15(g)

xg =

1O [T

2
=1-%x9=
3




2
9

1
8)(1—006)(

gl il
RO




ul
)

<0

— |

. Il
™

IR e




SHA 2.

e ALt

11. o

0 | b~

0

— <t




t2 E 2AL,

olu
=2 X

2 ek o, [ Jerel

A
T

oF
o}

& Asiol 7]

12. o

[arRRee]

<t I~

— ™

a1 il
KO

A A

1]
=




13.

1mo] #4417} 3

sieh dot 9l
L)

cCt "
=

>
2
> dE: 13§§

REECRER
7

420 FA= Z kg?z}b]ﬁl-? (D]— Ho] Fr)=

o

T, =1

3 1 < 3
f— — 1__
34><65><

kg
3 1
5 31 A
A F "7
1 1
93 2
= —132(k




1 1
8- -2~
O 3 26
3x 2
@ X1

B

[«
I

AR A
Pyt
=3 34, 1
et




